EARAROBEEIERT — 2 N— IBISH —F

20195 7H 168 (K) 9EI£IR2H

Il >5%3m®% A3 B R
[A&4] 1 #%:300,00 M ~ 23#%&:69,000M ~ 3#%&:36,000H  43#%:27,000 M 57 :18,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= P 3 EFEREA 1:32.4 3-3-3-2 |39.9| — 2 414 | FIHEZ (£R)
117lg| LT E—-L4 e 54.0 (=) 1) | W) Lyoz
REATAT v — BIVEYICR BEXZY K
o A1) — # 3 | EHK 1:32.4 1-2-2-1 | 40.2| — 1 425 | BERE (&R)
21717 HhAX=2yirl) 56.0 (NF) 0 FHHEIE
R:N—=vI54 B:a 4547 Eliztve]
< oo LHER . —-9-7— - aisRe (£R)
5 sl vzaaav-v i3 e 1.(312>.6 10-9-7-4 | 39.6 7 (4_819) i (
L E—E-HNLEY B:O—-LIoqyF tiiE &
N TN 4 3 | BEEBLA 1:32.9 1-1-1-2 | 40.8| — 4 457 | £E—8 (£R)
4/5|5 BRI E SR = 54.0 (1 1/2) (-6) RIS
IART—WoF— BT« T7HUT— FATLANIST
N ShEsE .33, —8-8- . — JIRBABL (£R)
5 6 h—t> X ML=k 4 3 56?0 1(3‘87 8-8-8-9 | 40.7 10 (4_518) T
L:bh—t>OL>2x B:ib—try—J BHREHM IXF477—LA
3 2oro s 4 3 | BUIER 1:33.9 9-9-10-8 |40.7 | — 8 406 | DNEEFIE (£IR)
6[1|1|¥av/EYax 54.0 (1) © | 7r-ztevar
RNMVTSY B:vvArbhuday I #F2
S it 3 | BLURF 1:33.9 6-5-6-5 |41.1| — 3 434 | BEK (£9R)
] 4| Fx—22h 54.0 (F4a<) 1) E(lﬁl) J P N
A4 agy Ly B:RKoZXv L EKZE YR
- # 3 | REA 1:34.1 4-4-4-6 | 41.4| — 5 451 | 2E—8 (£R)
glglg| V=0 54.0 @ © | HE—
L4 0 B:rash— At
D # 3 | hBEh 1:34.6 5-5-4-7 | 41.9| — 9 509 | £H—& (£R)
9|8[10| T A¥F 56.0 2172 Lo | dExE
L:7UF—v BNKTL INT7—L4
5 s # 3 | RFETR 1:35.0 7-5-8-9 | 42.0 | — 6 462 | I (£R)
L:xF1=FGr—X BNCKFTTxA b H—L—-TvIN> - Ty—LBRS
® 1—F—@EBIERL
12=7= (5,7),8,9,10,4,2,6,1,3
2a=5"= 5,7,8,9,(2,4,10) ,6, (1,3)
33—7— |5,7,8,(9,10),4,3,(2,6) ,1
40—+ — 7,(5,8),3,4,9,10,1,(2,6)
[ N5
B 8 260M 714K 7-8 150M e E -7 200 JEE 3-7-8 1,800
B B 8 100M 3-8 810M4 e B -7 260M JEE 8-7-3 4,450/
7 110M 3-7 770M B & 7-8 240M
3 270M B H 8-7 4401

ABICOVWTRDTEEERROODE. TR LIV,




